
Solve the word problems.

1. Lia has 12 slices of bread. Her mother gave her 4 more. 
    How many slices does Lia have now?

slices

2. Dave plucked 6 apples & Martin plucked 13 apples.
    How many apples did they pluck in all?  

apples

3. Martin got 2 gifts from his parents & 9 gifts from 
    friends. How many gifts does Martin have? 

gifts

Addition word problems (sums up to 20)
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Answers:

1. Lia has 12 slices of bread. Her mother gave her 4 more. 
    How many slices does Lia have now?

slices

2. Dave plucked 6 apples & Martin plucked 13 apples.
    How many apples did they pluck in all?  

apples

3. Martin got 2 gifts from his parents & 9 gifts from 
    friends. How many gifts does Martin have? 

gifts

16

19

11
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